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Question Number : 1 Question Id : 70819118394 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as

Reason K.

Assertion A : The escape velocities of p[anet A and B are same. But A and B are of unc-qua[

mass.

Reason R : The product of their mass and radius must be same. M;R; = M;R,

In the light of the above statements, choose the most appropriate answer from the options

given below :

Options :

70819160331, Both A and R are correct and R is the correct explanation of A

70819160332 Both A and R are correct but R is NOT the correct r_-xplanation of A

70819160333. A is correct but R is not correct

70819160334.

A is not correct but R is correct

Question Number : 1 Question Id : 70819118394 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



J51 ¢ 75 o3 75 : a5 998 A BeB fagr I w3 g g aI9E R 3uB fa3r J|

o6& A i A S g B Enif UBTTEs (escape) ST 59TET 96 | UT gid A w3 Jl B T I
ST AT J

aGE R fepl T 9 i3 wiAu fonH & JE6as W94 §9°E9 oed |
M,R, = M,R,

Budas agw T Hed fo, Sae BT S SE 9

Options:

70819160331, = A "3 R Al ga M3 R, A © Adt /=g |

70819160332. €6 A m3 R Adl 96 U9 R, A & Adt e &t T

70819160333, A Il IS R T®I T

70819160334, A T3 JuT R At T

Question Number : 2 Question Id : 70819118395 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 11 :
List - 1 List - 11
(a) h (Planck’'s constant) (i) [MLT1]
(b) E (kinetic energy) (i) [MLZT™ ]
(c) V (electric potential) (in) ML2T-?
(ivy ML2171T™9

Choose the correct answer from the options given below :

(d) P (linear momentum)

Options :
70819160335, (@ — (i), (b) = (ii), (c) — (iv), (d) — (iii)

20819160336, (@ — (i), (b) — (iv), (c) — (ii), (d) — (i)

70819160337, (a) — (i), (b) — (iii), (c) — (iv), (d) — (i)



70819160338, (@) — (i), (b) = (ii), (c) — (iv), (d) — (i)

Question Number : 2 Question Id : 70819118395 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
gt -1 584 - 11 55 fHsg

get - 1 gt - 10
(a) h (USa »IH) @ [MLT-Y
(b) E (33w 8 i) [ML2T-Y
(c) V (fesst uens) (i) [ML2T 2
(d) P (3f=x A=an) (iv) [ML2I-1T-3

Options :

70819160335, (@) — (i), (b) — (ii), (c) — (iv), (d) — (iii)

20819160336, (@ — (iii), (b) — (iv), (c) — (i), (d) — (i)

70819160337, (a) — (i), (b) — (iii), (c) — (iv), (d) — (i)

70819160338, (@) — (iii), (b) — (i), (c) — (iv), (d) — (i)

Question Number : 3 Question Id : 70819118396 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[f the time period of a two meter long simple pendulum is 2 s, the acceleration due to gravity
at the place where pendulum is executing S.H.M. is :

Options :

- a
70819160339, 16 m/s

70819160340, T ms ™ >



70819160341, 7-8 ms™ =

o i oFi i
70819160342, 27 ms =

Question Number : 3 Question Id : 70819118396 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

HAd € HieT BY FI6 556 © W93 a6 28 J, JOSEaRaN Y=al T 6 ot d=ar e e nees

I3 5% 3BT J

Options :

- 3
70819160339, 10 m/s

70819160340, T ms~ ?

70819160341, 98 ms™ =

7 ]
70819160342, 27 ms <

Question Number : 4 Question Id : 70819118397 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A student is performing the experiment of resonance column. The diameter of the column
tube is 6 cm. The frequency of the tuning fork is 504 Hz. Speed of the sound at the given
temperature is 336 m/ s. The zero of the metre scale coincides with the top end of the resonance
column tube. The reading of the water level in the column when the first resonance occurs
is:

Options :

70819160343, -0 €™



70819160344, 184 cm

70819160345, 148 cm

70819160346, 10 ¢m

Question Number : 4 Question Id : 70819118397 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fea fefenrdl nizae B & yoal a9 foot 31 oW feBu & fawm 6 cm 71 @y &7 & nifest
504 Hz T1 wie ©f a5t 63 38 3uHs 3 336 m/s J1 Hied HUug UST o dld wios e BH T Ag 3
Guew fooe 3 fimer 71 #e uiosl nigare 07 3 8H f&5 Uel © AST & w33 71

Options :

70819160343, -0 €™

70819160344. 184 cm

70819160345, 148 cm

70819160346, 1> €M

Question Number : 5 Question Id : 70819118398 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In an octagon ABCDEFGH of equal side, what is the sum of

e I I I T e
AB +AC + AD + AE + AF + AG + AH,

. — s A M
if, AO=2i+3 -4k

A B
H %
G D
F E
Options :
.f:-_ _/.: 'j .__,:.
70819160347, 101124 j+32k
70819160348, ~161 24 j+32k
70819160349, 16124 j+32k
167 2 A‘_ ':lx
70819160350, 101124732k

Question Number : 5 Question Id : 70819118398 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ABCDEFGH wiszrt, far fe8 999 v 75

e e e L il 3 s
AB+ AC + AD + AE + AF + AG + AH =7 73 &1 J=49T,

dag ufgedt ToREe U

— P P

\ \ Fa
AO=2i+3j—4k



Options :

.’:. . _f-.._ . _..-.:_
70819160347, 161 124)+32k

70819160348, — 16124 j+32k

70819160349, 16124 7+32k

70819160350, 101 +247 32k

Question Number : 6 Question Id : 70819118399 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two satellites A and B of masses 200 kg and 400 kg are revolving round the earth at height
of 600 km and 1600 km respectively.

If TA and TB are the time perinds of Aand B respectivel}-' then the value of TB—TA ’

[ Given : radius of earth=6400 km, mass of earth=6x10* kg |
Options :

K
70819160351, 1:33% 107 s

4 D 3
70819160352, +24x107s

3
70819160353, +-24 X107 s

70819160354.



3.33x10% s

Question Number : 6 Question Id : 70819118399 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T Bu afo A w3 B fiy @ 39 200 kg » 400 kg 3, T3t T ©4% UN T T8, i < GoEt
600 km #i< 1600 km FH=T T
7o Ty »3 Ty, A »3 B & AH &8 (@RW) T6, 3¢ T-T, THS.

(figet & wEu fenmA=6400 km)
(et & 39=6x 102 kg ) F=|

Options :

3
70819160351, 1-33x 107 s

A4 2 K
70819160352, +-24% 107 s

)
70819160353, +:24x 107 s

i
70819160354, 33 X107 s

Question Number : 7 Question Id : 70819118400 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A5 V battery is connected across the points X and Y. Assume D; and D, to be normal silicon
diodes. Find the current supplied by the battery if the +ve terminal of the battery is connected
to point X.

Dy 100
";..JI AN
D
% 510)
A 4'4"L",
X Y
Options :
70819160355, ~ U2 A
70819160356, ~ U043 A
70819160357, ~ 086 A
70819160358, ~ 12 A

Question Number : 7 Question Id : 70819118400 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

fgr 5V Jedt fdg X w3 Y 3 maret @t 91 ¥is ®@ D, w3 D, Auds fhfgars  5fels o5 dedt
o 3T famif d9e BT a9 Hem +ve fre edt T X fig I gl 9= ¢

e 100
1A Wiy
D
ik 50
I~ W

X Y

Options :

70819160355, 00 A



~043 A

70819160356.
70819160357, ~0-86 A
70819160358, ~ 12 A

Question Number : 8 Question Id : 70819118401 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ : A spood*. sigm[ of 2 kHz is used to modulate a carrier signal of 1 MHz. The
bandwidth requirement for the signal is 4 kHz.

Statement 1l : The side band frequencies are 1002 kHz and 998 kHz.

In the light of the above statements, choose the correct answer from the options given below :

Options :
70819160359. Both Statement | and Statement 1l are true

70819160360. Both Statement I and Statement 11 are false

70819160361, Statement 1 is true but Statement 1l is false

70819160362. Statement 1 is false but Statement 11 is true

Question Number : 8 Question Id : 70819118401 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



J& € aEer B8 83 8 |

ag6 | : 8% 2 kHz ¥ wew fiaes 1 MHz € 2708 (s § Histie &95 el 2913 fam J |
fer © wet Tooww ©F 53 937t 4 kHz 99 91

o6 [l : um ¥ wricdhet 1002 kHz w3 998 kHz 751

Gudes gEw T AeU feg, Fig S Yo §39 Tt 9z a9 ¢

Options :

70819160359, =0 X0 | 713 F& 11 AT 5

70819160360, T6 &G | »3 TES 11 IH3 T

70819160361, X80 1 Al I U3 &E& 11 3153 I

96 | I3 J UT aEa 11 7t o
70819160362.

Question Number : 9 Question Id : 70819118402 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason K.

Assertion A : When a rod lying freely is heated, no thermal stress is developed in it.
Reason R : On heating, the length of the rod increases.

In the light of the above statements, choose the correct answer from the options given below :

Options :
70819160363, Both A and R are true and R is the correct explanation of A

70819160364. Both A and R are true but R is NOT the correct explanation of A

70819160365, A 1s true but R is false

70819160366, 1 false but R is true



Question Number : 9 Question Id : 70819118402 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ST 3 75 R s qas ABTB fagr InZ TH a TIS R BEB faz7 J |

ags A ;7T 53 =27 U8t ust gy aist At 9, fer fe9 3t 2t 3u Aeor &dt ga%t 91
a9z R : 23 o ®9%1, 994 o996 3 20 A J1

Budos Ev T Auu fe5, Aig S Sa= G599 of 9z o9

Options :

s ANMSRAT aa M2 R, A ¥ Hdt 7= J |
70819160363.

70819160364, & A W3 R Al 95 U R, A = A 728 &t J|

70819160365, A Fdl I UT R a3 J1

A T%3 I ug R At T
70819160366.

Question Number : 10 Question Id : 70819118403 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The current (i) at time t=0 and t= = respectively for the given circuit is :

51} 51}

M

10 4 1)

Options :
18E SE

70819160367, > 18



'5_E 18E
70819160368. 18 35

106 5
70819160369, -- 18

5E 10E

70819160370, 18 33

Question Number : 10 Question Id : 70819118403 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

o3 Agae BT AN t=0 13 t= = e (i) T U o :

502 511

Options :
18E 5E
70819160367, 2> 18
5E 18E

70819160368. 18 35

106 SE

70819160369, - 18

5E 10E

70819160370, 18 33



Question Number : 11 Question Id : 70819118404 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The pitch of the screw gauge is 1 mm and there are 100 divisions on the circular scale. When
nothing is put in between the jaws, the zero of the circular scale lies 8 divisions below the
reference line. When a wire is placed between the jaws, the first linear scale division is clearly
visible while 72" division on circular scale coincides with the reference line. The radius of
the wire is :

Options :
70819160371, 164 mm
70819160372, 0-90 mm

70819160373, V-82 mm

70819160374, 180 mm

Question Number : 11 Question Id : 70819118404 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AEg-3W T HUS %39 1 mm J %3 Faat UM 3100 f@ 351 7€ e © nfs e as @ &

dfemr famm I, Saat IHel 2 79 8 fon By o 3768 T | 7% fE7 39 3 Al T T dfmit arer

J, e Sftm U fen Ae feuret féer 9 wefa 72 fou ot Ud © B8y oo &7 89k 36 | 39

& nau fenm 7

Options:
70819160371, 164 mm
70819160372, 0-90 mm

70819160373, U-82 mm



70819160374, 180 mm

Question Number : 12 Question Id : 70819118405 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An a particle and a proton are accelerated from rest by a potential difference of 200 V. After
ﬁp
tMmﬂmﬂde&nﬁhwmmbgmsmeMﬁmdﬁgmpxmm@JMOMEOf—E:
iy

Options :

70819160375, 2.8

70819160376.

=1
oo

70819160377.

70819160378, -8

Question Number : 12 Question Id : 70819118405 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
¥ o 33 93 Y2 & wiaH 3 gmie, 200 V USHS wi3d &% y=a fe3t famr 31 fen 3 amie féar &

A

- i1 il =, £ ]'-' W o W =, 2 o S
STeqaRs! 3901 BEET A, WS N PR T | wpUw'S - R I oIS qEAII
1]

Options :
70819160375, 2.8

70819160376, °©

70819160377, /-8



70819160378, -8

Question Number : 13 Question Id : 70819118406 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two coherent light sources having intensity in the ratio 2x produce an interference pattern.

I]'Il:l.\ Imjn

The ratio will be :
max | min
Options :
{2x
P

70819160379, =¥ 1

2x+4
70819160380.

70819160382, X1

Question Number : 13 Question Id : 70819118406 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

- T = : = = I < I
T 9% AYU Yoy 73 faet € Sheesr o wmurs 2 9, fows feemsr serter ) wigys AT ll“"”

max ' min

fem 39t Tt
Options :

2y

70819160379, 2* 1



70819160380.

70819160381, * 11

70819160382, * 11

Question Number : 14 Question Id : 70819118407 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An engine of a train, moving with uniform acceleration, passes the signal-post with velocity
u and the last compartment with velocity v . The velocity with which middle point of the
train passes the signal post is :
Options :
uto

70819160383, 2

00—

70819160384, 2

II’2 | HE

V2

70819160385, ' 2
. )
(o= —u*

V2

70819160386, ' 2

Question Number : 14 Question Id : 70819118407 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

fEa A U=a1 7% 296 fene, fea fHaes 48 @ u 201 378 UT a9 J niS Wi 557 0 391 67
BUET T | 296 T feoards fag 3 <9 off Jeat 7 G fHaws de g ue e J

Options :

u+v

70819160383, 2

70819160384, 2
IIII:'E | HE
70819160385, | 2
2 3
|Ii'" -
V2
70819160386. 2

Question Number : 15 Question Id : 70819118408 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A proton, a deuteron and an « particle are moving with same momentum in a uniform
magnetic field. The ratio of magnetic forces acting on them is and their speed is
, in the ratio.

Options :

70819160387. 421 and 211

70819160388, 2:1:land4:2:1

70819160389, 1: 2:4and1:1:2

« .4 . Y . >
70819160390, 2 4and 2:1:1



Question Number : 15 Question Id : 70819118408 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

¥ Uew, fEa f58cs m3 fea o 33 AWG3T gudlt 439 10 fod AN Aeal 378 77 9d 06 | 9elt 5%

Ao sdafewys omus TG daiomus fERFS
ITL B J
Options :
4:2:1mF2:1:1
70819160387.

"
70819160388.

=]

A3 1:1:

i
3

70819160389.

1:2:4m52:1:1
70819160390.

Question Number : 16 Question Id : 70819118409 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Magnetic fields at two points on the axis of a circular coil at a distance of 0.05 m and 0.2 m
from the centre are in the ratio 8 : 1. The radiusof coilis .

Options:

70819160397, -1 M

70819160392, V12 m
0.2 m

70819160393.

70819160394, 1-0 m



Question Number : 16 Question Id : 70819118409 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
JoTdT g% © U € fienr 3 guel 639, 7 de9 3 005mnE 02 m T I T, T mgurs
8:171 oz® v oGy farH 3

Options :

70819160391, 01 M

70819160392, V1o m

70819160393, U-2 m

70819160394, 1-0 m

Question Number : 17 Question Id : 70819118410 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The angular frequency of alternating current in a L-C-R circuit is 100 rad/s. The components
connected are shown in the figure. Find the value of inductance of the coil and capacity of
condenser.

R=460 ()
A

15V

r= {
c—py R4 Lg20V

|

Options :

70819160395. 1.33 H and 250 pF



70819160396. 1.33 H and 150 pF

70819160397 0.8 H and 150 pF

: ':I- a
70819160308, -8 and 250 uF

Question Number : 17 Question Id : 70819118410 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ffa L-C-R nAoee fev uaset age € dat »ifeat 100 rad/s T | 3A=TT wear & 32 fewBet T
Udd d3®! o Ydd3" W3 T9d of T9a3" @ N 15T 4.

R=601}
— L LAh
15Y

; _
ey | AL LS20V

& 1

Options:

33 H %3 250 uF
70819160395, 0 F1 73 250 uF

1.33 H »= 150 pF
70819160396.

70819160397, -8 H 7= 150 uF

70819160398, U8 H "3 250 uF

Question Number : 18 Question Id : 70819118411 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



-

; ; R 7 _— .
A diatomic gas, having Cp =;R and Cy =;R, is heated at constant pressure. The ratio
dU:dQ:dW:

Options :

=1
(=]

70819160399, 2:

70819160400.

70819160401.

70819160402, 2:7 3

Question Number : 18 Question Id : 70819118411 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: . it P 5. & o . .
feq TueH==t am, farer C1>=%I€ w3 Cy=-R 7, 3 fa ms =@ €3 aiaw aifsr famrr 31
nus dU - dQ : dW : T=ar -
Options :

70819160399, 2:7:2

70819160400.

70819160401, -

e |
(o5

70819160402, 2 :

Question Number : 19 Question Id : 70819118412 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Two radioactive substances X and Y originally have l\]l and N2 nuclei respectively. Half life
of X is half of the half life of Y. After three half lives of Y, number of nuclei of both are equal.

The ratio & will be equal o:
Na

Options :

r—*|=,.-.1.

70819160403.

-_,._1|,_1'

70819160404.

70819160405.

70819160406. 8

Question Number : 19 Question Id : 70819118412 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T U6 Afg vegg X »3 Y & mgwst avlga Ny w3 N, g9 96| X @ »g B3 Y & new

Qo it 3 1 Y S 5 e it 3 v, S5 € rn < Ao e 31 s L w0

d<ar |

Options :

r—"|=._.-J.

70819160403.

__,._1|,._1'

70819160404. -

| oe

70819160405, 1



3
70819160406, 8

Question Number : 20 Question Id : 70819118413 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A solid sphorr_- of radius R gravitaﬁona[l}-' attracts a pa_rticle placr_-d al 3R from its centre with

-
A"
a force F,. Now a spherical cavity of radius | Y | is made in the sphere (as shown in figure)
) =3

and the force becomes Fz- The value of Fl - l"'2 is :

Options :

70819160407, 11150

70819160408, 0 * 41

70819160409, 26 : 2

25 - 36
70819160410. PR

Question Number : 20 Question Id : 70819118413 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



et R »au feni 7% B dier gasTaaars endr F, % &7 fow 33 & nafhs/fie oo 9 A fa feme
deg IR T 3 JI

Bn @ feu-fm vt 8 (cavity) T aﬁ%ﬁwm&wﬂij IS e T W, &

B
e J1 F_ETEI'-E’E J
2

Options :

70819160407, *! 120

70819160408, 2° °

70819160409, 20+ 22

70819160410, = 20
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Sub-Section Id : 7081911047

Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 70819118414 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A monoatomic gas of mass 4.0 u is kept in an insulated container. Container is moving with
velocity 30 m/s. If container is suddenly stopped then change in temperature of the gas

X
= o ant) is — . V: fyi
(R=gas constant) is R Value of xis

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819118414 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

fea go%a 5936 (fenptes ancnq) fev féq Yz @@ 3W & U9 4.0 u J1 5936 (T6ca9)

- = - - - = - v x
30 m/s 39 &% 9% foTr I | Hmnmmﬁwmmmﬁmhﬁ e
Wl ITxTHE _ dl
(R=3W »a® J1)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 22 Question Id : 70819118415 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

512 identical drops of mercury are charged to a potential of 2 V each. The drops are joined to
form a single drop. The potential of this dropis V.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819118415 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

YT T 512 AHAST 5eT 2V T USHS 5% 798 o0 a3 aE 96 | §9 & °F 154 o¢ gEe gt J|
fen e §ET Tr y%ﬂ?:i  yolts 71 ki )

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819118416 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A coil of inductance 2 H having negligible resistance is connected to a source of supply
whose voltage is given by V=3t volt. (where t is in second). If the voltage is applied when
t=0, then the energy stored in the coil after4sis .

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819118416 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

fea 2 H yaa asw famet faget y3igasr 9, & V=3t volt (t Hldst fe8 9) myTst A3 &% Al
fapr 1 7 waret a1t Smed, AR t=0J ST 5o R AW JET Gow 4 BfdstamE __ §®
<t |

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819118417 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A small bob tied at one end of a thin string of length 1 m is describing a vertical circle so that
the maximum and minimum tension in the string are in the ratio 5 : 1. The velocity of the bob
at the highest positionis ___ m/s. (Take g=10 m/ 53]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 24 Question Id : 70819118417 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

f¥q g7 e 7 fa o Mg Baret et usst 379 o dienr 3, fenrfinit ager I fed vdemr 9o, fen
319d &8 fd (F0 3 20) §530 »13 T6883n (e 3 we) e sohvf T e fer meus IR 9 0 5:11
@ e s, G At T J1(& g=10m/s?J)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819118418 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The potential energy (U) of a diatomic molecule is a function dependent on r (interatomic
distance) as
LI

l,1{]' l_El

where, a and p are positive constants. The equilibrium distance between two atoms will be
; d

2a )b
— |, where a=
\ I F

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 25 Question Id : 70819118418 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
fea Buma=t viE 2 Afaisa 8o (U) (viseueH=st gat) ‘v o 5999 o556 fen 37 L-=% I—S 3
r

I
a

J fAE o "3 p UEIHI 1iES T6 | W&Hﬁf@?ﬁﬁaﬂ{%ﬁ Ha=
viE S

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 26 Question Id : 70819118419 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

)

— / 1 A A
The electric field in aregion is given by E = | —E; 74 i Eoj
e 9] )

% The ratio of flux of reported

field through the rectangular surface of area 0.2 m? (parallel to y—z plane) to that of the
surface of area 0.3 m? (parallel to x—z plane) is a:b, wherea=___

|Here ; ¢ I and L are unit vectors along x, y and z-axes respectively|
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 26 Question Id : 70819118419 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

i Y RT
v - g Ho. B 4L s " ’
fex mr o9 fammet w9 fem 3 U E = | ZEgi+=Eyj = fe3 ot mr © <%ew A &
\_'_) J g,

e Ued fReT §39e% 02 m? (FHST y—2z 38) J, »3 YT fAer §39e5 03 m? (AHST
x-23%) a®MEUS a:bd,Fra=_ Tl

(o | j w3 b foareh R 5, ,y W3 2 T ¥ @ )

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 27 Question Id : 70819118420 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A transmitting station releases waves of wavelength 960 m. A capacitor of 2.56 pF is used in
the resonant circuit. The self inductance of coil necessary for resonance is
~ x10"8H.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819118420 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



{5 ZImHIHS ACH® 960 m ISdmast Tl 39aT 25 (907 J1 8d 2.56 uF =% Uad nigaret 539

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

x10"8H I

Question Number : 28 Question Id : 70819118421 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The same size images are formed by a convex lens when the object is placed at 20 cm or at

10 cm from the lens. The focal length of convex lensis

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

_cm.

Question Number : 28 Question Id : 70819118421 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

838 Faw 2T 20cm S 10cm & T9F e 3 @H3 T ySifae e mo sew U1 §3B daw

= (- - {
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 29 Question Id : 70819118422 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In a certain thermodynamical process, the pressure of a gas depends on its volume as kV?,
The work done when the temperature changes from 100°C to 300°C willbe _____nR,
where n denotes number of moles of a gas.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819118422 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
fea at 3y atal ugH 23, 3n = =o§ fere nifess 3 fom 39 kV° f5ae9 aer U1 78 3uHs
100°C 3 300°C 2% w<dr, di3" aan 9=a _______ nR, {78 n I & #5 Afmr gar@e
J1

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819118423 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

In the given circuit of potentiometer, the potential difference E across AB (10 m length) is
larger than E, and E, as well. For key K, (closed), the jockey is adjusted to touch the wire at
point |, so that there is no deflection in the galvanometer. Now the first battery (E,) is replaced
by second battery (E,) for working by making K, open and K, closed. The galvanometer

’ Lo LB, @&
gives then null deflection at ]2. The value of L—l is E ,where a=
2

Rh J;¢—60 cm—>
| S
B< Im >

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819118423 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



UCHIGHIZT € €3 Aode »igH™, UcHS w33 AB (10m 89l € €3 EJ, HE; »3 E, 3 &7 71
dnl K, (88 J) &2, fiel 3 feR 3dla &7 e (3l o3 Ao ) fa flg ], 3 77 o &< 3
dEeaHica 3 Al & Bee o o | g2 ulas ged B, 3 T Hedl B, o %o fa3 A J, aow AN
I K, 4% 7 w3 K, 52 T A< | §R AN doesries ot & #=6 |, 83 adt fewer|

L_l U e i. fga=___
E, b
O '
1 1
[ G
: ||E2 \sz
[
f."\K F J‘I\L I
<« cm—], I
1
&
| |
I
Rh ]zi—ﬁﬂcm—}l :
 FETE 4
B:: Im >

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Chemistry Section A
SectionId: 708191768
Section Number : 3
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911048
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819118424 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The plots of radial distribution functions for various orbitals of hydrogen atom against “r’ are
given below :

The correct plot for 3s orbital is :
Options :
70819160421, (&)

70819160422, (B)

70819160423, (©)



70819160424, D)

Question Number : 31 Question Id : 70819118424 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

TEEIG UIHTE € T 4 niahees aet dur” Ry, ((r) (3 25 @%) S5 H AR 36 niautenm (1),

TESIH © 35 Mifaes Bel At qur-fo3 foagar 97



Options :

70819160421, (&)

70819160422. (P
70819160423,

70819160424.

Question Number : 32 Question Id : 70819118425 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

According to molecular orbital theory, the species among the following that does not exist is :

Options :

0,°
70819160425.

70819160426, 1 1e2

70819160427, 22

Hesy'
70819160428,

Question Number : 32 Question Id : 70819118425 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

UIHES 7 migel widfEes oS nighe U6 o3 =9ar §° faggr mAf3se &dt guer ¢
Options :

5
70819160425.



70819160426, |12

70819160427, B2

He,"
70819160428,

Question Number : 33 Question Id : 70819118426 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The solubility of AgCN in a buffer solution of pH=3 is x. The value of x is :
[Assume : No cyano complex is formed ; I(HP(AgC N)=22x10"1¢ and K,(HCN) =6.2x10 0]

Options :

70819160429, 0-625x107°

B 6
70819160430, 1-6 <10

16
70819160431, 22X 107

e ]
70819160432, 1-9 %10

Question Number : 33 Question Id : 70819118426 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

pH=3% §5% €3 ftx mizg us e AgON & Weer®s x J1 TR A x T 6 __
(& ®B: o=t ea Gfdd adt g=en) K

 d=am

(ABCN) =2210~16 %3 K, (HCN) =6.2x10"19]

Options:

70819160429, 0-625x10°°



B 6
70819160430, 1-6 %10

70819160431, 2:2% 10710

\ 5
70819160432, 1-9% 10

Question Number : 34 Question Id : 70819118427 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In Freundlich adsorption isotherm at moderate pressure, the extent of adsorption ll
n

15

dirc-ct_[}-' proportional to P*. The value of x is :
Options:
70819160433, 1

70819160434, “¢1°

70819160435. =

70819160436.

Question Number : 34 Question Id : 70819118427 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
WAS 9 © va §3, 2feCslem withys mentt fedt fSo wifumdt ot Gm < wrsar H w3 P2
M

23 B € "EU=A (directly proportion) T51 ¢’ & NS U3T &4 |
Options :

70819160433, 1



70819160434, “¢T°

70819160435,

3

70819160436,

Question Number : 35 Question Id : 70819118428 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Ellingham diagram is a graphical representation of :
Options :

70819160437, AGvsT

70819160438, AHvs T

70819160439, AG vs P

70819160440.

Question Number : 35 Question Id : 70819118428 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
EH&saoy fosg ot Tar@er T ¢
Options :

70819160437, AGvsT

70819160438, AHvs T



70819160439, AG vs P

70819160440.

Question Number : 36 Question Id : 70819118429 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which of the following equation depicts the oxidizing nature of H,O, ?
Options :

20819160441, KIO; + H,0, — KIO; +H,0 + 0,

2 Z .
70819160442, ' T ERELORET S AT FEELEIE LY

y
70819160443, 2~ tH 0, +2H" — 1,4 2H,0

B 5
20819160444, St Ha0y — 2ZHU O,

Question Number : 36 Question Id : 70819118429 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Jo oy gArfefea miaes 3 fogar Riides Hy0, ¢ miaHiaad Fami (oxidizing nature)d TaAg el
3?

Options :

70819160441, KIOs + Hy0; — KIO; +H0 +0,

A 2 7
20819160447, 12+ H2O2 120H ™ — 217 +2H,0 +0,



P
70819160443, 2~ tH 0, +2H" — 1,4+ 2H,0

& g
70819160444, Szt 02 = ZHATO,

Question Number : 37 Question Id : 70819118430 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct statement about B5H is :
Options :
70819160445, All B—H—B angles are of 120

70819160446, The two B—H —B bonds are not of same Ir_-ngf_h.

70819160447, lerminal B—H bonds have less pcharacter when compared to bridging bonds.

70819160448, s fragment, BH; , behaves as a Lewis base,

Question Number : 37 Question Id : 70819118430 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
B,H, &=t ooz a8s At J ?
Options :

70819160445, A8 B—-H—B &= 120° J¢ T5 |

70819160446. © B—H—B 505" 59rad ®ge! € &1 g¢ |

fAT 2% (Terminal) B—H 505 ‘8’ p-feiE3™ (Character) U% 528 % B—H #uar 3" ule
70819160447, 9% I



20819160448, grer 22", BH,,fem=a 99 2R (Lewis) g Jer T |

Question Number : 38 Question Id : 70819118431 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | : CeO, can be used for oxidation of aldehydes and ketones.
Statement Il Aqueous solution of EuSO, is a strong reducing agent.

In the light of the above statements, choose the correct answer from the options given below :

Options :
70819160449, bBoth Statement 1 and Statement II are true

70819160450. Both Statement I and Statement 11 are false

70819160451 Statement 1 is true but Statement 11 is false

70819160452, Statement 1 is false but Statement 1l is true

Question Number : 38 Question Id : 70819118431 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Jof © gEs fos ae 961

ag6 1:  AESITEs »iE dics € MiaH e et CeO, T 293 ST Ael J

qg6 1l:  EuSO, e ST U (aqueous solution) foa 593 39 swarad J |

Budes agwr ot @ feg J6 f£3 feamut o5 AoesH o= B39 & 9= a9
Options :
70819160449, T< &8& 1 7= aE6 11 At 76 |

20819160450, ©< && | »= &S 11 AT 5 75 |



70819160451, X868 | FdT T UGz &@s L A a4t T |

20819160452, 56 LRIl &t T uo3 a6 1L At T |

Question Number : 39 Question Id : 70819118432 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In which of the following pairs, the outer most electronic configuration will be the same ?
Options :

70819160453. V> and Cr'

70819160454, Cr* and Mn?*

70819160455, Ni*" and Cu

1.2+ ~ _ 4
70819160456, Fe~ " and Co

Question Number : 39 Question Id : 70819118432 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

J5 8y faoz 77 &t /g 3" ool tsaefed 39318 ANG J 7
Options :

'} - —_
70819160453, V- »3 Cr”
70819160454, Cr* »3 Mn?"

) b
70819160455, Ni~* »= Cu”



70819160456, Fe** »3 Co*

Question Number : 40 Question Id : 70819118433 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The hybridization and magnetic nature of [Mn(CN),]*~ and [Fe(CN)]*~, respectively are :
Options :

20819160457, 4-sp° and paramagnetic

70819160458, P @ and diamagnetic

70819160459 ﬂzzﬁpﬁ and diamagnetic

=y 05 g o :
70819160460, 5P @ and paramagnetic

Question Number : 40 Question Id : 70819118433 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[Mn(CN)]*~ »3 [Fe(CN) ]’ € Adds »S ol Fem gied ____ J
Options :
70819160457, @ " 73 & FEAl (paramagnetic)

70819160458, 5P d° m3 ySiEeal (diamagnetic)

70819160450, @ " "3 USITHE (diamagnetic)

342 5 . oy % ]
20819160460, 5P & "= 1id ggal (paramagnetic)



Question Number : 41 Question Id : 70819118434 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 : An aIIm_mpo of oxygen is an important intermediate in the formation of
reducing smog.

Statement 11 :  Gases such as oxides of nitrogen and sulphur present in troposphere
contribute to the formation of photod‘uc-mical smMog.

In the light of the above statements, choose the correct answer from the options given below :

Options :

70819160461. Both Statement | and Statement Il are true

70819160462. Both Statement I and Statement 11 are false

70819160463. Statement 1 is true but Statement 11 is false

70819160464. Statement 1 is false but Statement 1l is true

Question Number : 41 Question Id : 70819118434 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Jo' € a8 o3 I &b

qE6 1:  oarvs T fia gEesi(yidiae) Sy Bwaes! AHG 55T8E § HU3UGE HO=gs! 33 U

oga 1l:  couREhid 129 Fige aeicons w3 ABed © WiaHTE!s fadhet IR € Hyedl 198 Ya
FHA®RE Onf 52T 3|

Budas agar <t ¥ T, I 3 feamyt & Aoy ga=1 €39 32

Options :

20819160461, == &€& 1 73 &E& 11 At 75 |

70819160462, ©= @EG 1 »= &6s 1L AT &4 T5 |



70819160463, X80 | At T udg aEs 1L Adl &dt I

20819160464, %86 1 At &t I 1S3 w@s 11 Al 1

Question Number : 42 Question Id : 70819118435 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Complete combustion of 1.80 g of an oxygen containing compound (C,H,0,) gave 2.64 g of
CO, and 1.08 g of H,O. The percentage of oxygen in the organic compound is :

Options :

70819160465, 2U-33
70819160466, 23.33
70819160467, ©3.53

70819160468, 21.63

Question Number : 42 Question Id : 70819118435 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fEx nraHinG Gas wiae (C,H,0,) T 180 g Yz w6z §3 2.64 g CO, w3 1.08 g urat féer U
q9Elea HiaE 98 & SHel (%) WaHws Hee J|

Options :

70819160465, 2U-33

70819160466, 93.33

70819160467, ©3.53



70819160468, 21-63

Question Number : 43 Question Id : 70819118436 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Idc-ntif}-' A in the given chemical reaclion.

_~CH;
CH Mo,O .
2 CH; 2Y3 - A
L . ~~ 7 773K,10-20atm  major product
Hy
\RCHE/ \\“CI—I;
Options :
70819160469. :
: CHs
70819160470.
70819160471. :
: .CHj,

70819160472.

Question Number : 43 Question Id : 70819118436 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



o3t ot grfesa yfsfafanr ‘3" ‘A’ & wg= |

/CHS .
CH Mo, ( o
| 2 CH, 3 . ‘A
CL CHI/ o 773K, 10-20 atm Wy Sus
3 ;
\“CHZ/ \”CI—Ia
Options :

70819160469.

70819160470.

q
o
of

70819160472.

Question Number : 44 Question Id : 70819118437 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Identify A and B in the chemical reaction.

— > [A] )
(major) dry acetone (major)
NO,
Options :

70819160473.



OCHj I

Cl Cl
.n'"'\ = H —
NO, NO;
OCH; OCH,4
Cl I
A = B =
NO, NO,
70819160474.
OCH; 1
A = B —
Cl £
NO, NO,
70819160475. “
OCHj,4 OCHjy
Cl
A = B =
Cl
70819160476. e D

Question Number : 44 Question Id : 70819118437 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
J5 o5t amfesa yfsfafonr 9 Anz Buge
OCH,4

2 T e T Sl » [B]

vy Gum Wy Buw

NO,



Options :

OCH;4 I
Cl Cl
r'*'h = H =

. NO
70819160473, NO, 2
OCH; OCH;,4
Cl I
A= B =
NO, NO,
70819160474.
OCHj, I
A= B=
Cl )
NO, NO,
70819160475. “
OCH,4 OCHj;
)
.III*\. = B =
Cl
70819160476. e Dl

Question Number : 45 Question Id : 70819118438 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The major product of the following chemical reaction is :

1) HyO*, A
_ 2) SOCI,
CH3CH,CN > 2
3) Pd/BaSO,, H,

Options :



70819160477. L

70819160478, (CHCH,C0O),0

70819160479, HaCHCH;

70819160480, CH3CHCHO

Question Number : 45 Question Id : 70819118438 Question Type

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
J5 Tt arfesa ufsfafonr & vy Bur faoat 92

1) H;O*, A
2) SOCl,

CH3CH,CN > 2
3) Pd/BaSO,, H,

Options :
70819160477, ST3CHCHOH

70819160478, (CHCH,C0O),0

70819160479. R

70819160480, “HaCHCHO

Question Number : 46 Question Id : 70819118439 Question Type

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the foIIowing reactions will not form acc-taldeh}-'dc- ?

Options :

: MCQ Option Shuffling : Yes

: MCQ Option Shuffling : Yes



Pd(II) / Cu(Il

70819160481, H0

i CTDB—IIESD;}
CH,CH,OH -

70819160482.

i) DIBAL-H
CH;3CN —
it) H,O

70819160483.

Cu

CH,CH,OH
: 573 K

70819160484.

Question Number : 46 Question Id : 70819118439 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

I i T i S

I5 fesher yfsfafonr &5 faost ufsfatonr 3° wiHtenisstoels &dF g&ar?

Options:
PA(II)/ Cu(ll
CHEZCHE"I-DE { :If { :I
70819160481, H0

CH;CH,OH -

70819160482.

i) DIBAL-H

CH,CN
H,O

70819160483, i)

Cu

CH,CH,OH
' 573 K

70819160484.

Question Number : 47 Question Id : 70819118440 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Compound(s) which will liberate carbon dioxide with sodium bicarbonate solution is/are :

NH, COOH OH
NO, NO,
ﬂk = B = C =
NH, NH,

OH NO,
Options:
70819160485, ‘* and B only
70819160486, = ™Y
70819160487, © 2nd Conly

70819160488, B only

Question Number : 47 Question Id : 70819118440 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
fogz 7 fos Gioa Ash SEiarosae WS 5% fafor dod ToessTEianels Jn feer #f fet 767
NH, COOH OH

NO, NO,
A= B = C=

NH, NH,
OH NO,

Options :
70819160485, TA9E A mi3 B

70819160486, TAgE C

70819160487, TFag B3 C



70819160488, A= B

Question Number : 48 Question Id : 70819118441 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following reaction/s will not give p-aminoazobenzene ?

NO,
e i) Sn/HCI
i) HNO,
iii) Aniline
NO,
" i) NaBH,
B ii) NaOH
iii) Aniline
NH,
c i) HNO,
) ii) Aniline, HCI
Options:

70819160489, “* only

70819160490, < 1LY

B only
70819160491. i

70819160492,  and B

Question Number : 48 Question Id : 70819118441 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



NO,
A i) Sn/HCI
i) HNO,
iii) Aniline
NO,
B i) NaBHy
) ii) NaOH
iii) Aniline
NH,
C- LA B
ii) Aniline, HCI
Options :

70819160489, HIS A
70819160490, fA3E C
70819160491, fAge B

70819160492, A "= B

Question Number : 49 Question Id : 70819118442 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which statement is correct ?

Options :
70819160493, Buna-N is a natural polymer.

20819160494. Buna-5 is a synthetic and linear thermosetting polymer.

70819160495, Neoprexm is an addition copnl}fmer used in plastic bucket manufacturing.



70819160496, Synthesis of Buna-S needs nascent oxygen.

Question Number : 49 Question Id : 70819118442 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

r

EOEL

LT

39 Adr J7

iap

Options :
20819160493, Buna-N fEa yfqf3e sgoa T

Buna-S & AHfEHe, THUT (linear) ¥ 39 a9 3 37U 56d USHICH (thermosetting) T8
70819160494, !

70819160495, I

70819160496, Buna-S 55 T FRGHE BEN UgHE<! WiaHs (O) ©F %= I J|

Question Number : 50 Question Id : 70819118443 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the glycosidic linkage between galactose and glucose is present in lactose ?
Options :

70819160497, &-1 of galactose and C—4 of glucose

70819160498, -1 of galactose and C-6 of glucose

70819160499, -1 of glucose and C-4 of galactose

20819160500. C-1 of glucasc- and C-6 of galacmse



Question Number : 50 Question Id : 70819118443 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Fdcw f<o U6 fe3 9 faost awelarifsa 805 (glycosidic linkage), IMdden w3 T%aw <9 Hge
Jet T

Options :

70819160497, JBa<H ¥ C-1 M3 igory e C~4

70819160498, J0acH € C-1 7= ageH = C-6

70819160499, d%aH T C-1 w3 didded T C4

70819160500, 9@ € C-1 »iS diseled & C-6

Chemistry Section B

SectionId: 708191769
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10

Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required?: Yes
Sub-Section Number : 1
Sub-Section Id : 7081911049

Question Shuffling Allowed : Yes



Question Number : 51 Question Id : 70819118444 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

N
0.4 g mixture of NaOH, Na,CO, and some inert impurities was first titrated with ﬁ HCl

using phenolphthalein as an indicator, 17.5 mL of HCI was required at the end point. After
this methyl orange was added and titrated. 1.5 mL of same HCI was required for the next
end point. The weight percentage of I\IELECD3 in the mixtureis . (Rounded-off to
the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 51 Question Id : 70819118444 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
N

NaOH »3 Na,CO, 3 o3 nifas (inert) ueas’ © 04 g firee 3 Sloseusis god <93 o ni3 5

HC1 7% gTeice a9 Bt 17.5mL HCl & &3 Uet 91 fen 3 emie Wigrels wio poal 23 o fime
7z §3 8F HCl € 15mL & 83 Uet 31 fon fimee 128 Na,CO, & 39 yf3mssr _
J1 (857 e viw 3 fo)

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819118445 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

A car tyre is filled with nitrogen gas at 35 psi at 27°C. It will burst if pressure exceeds 40 psi.
The temperature in “C at which the car tyre will burst is . (Rounded-off to the
nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819118445 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

27°C 3uns §3 fEa a9 © ofeg 98 ameicms dain 35 psi T8 59 34t et J1 wag ol 40 psi 3
U AT 3t ofeg @ Aear| W Egl °C (Aetaes) suns €3 a9 © ofeg 22
T=ar | (839 uds wia 3 fss)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819118446 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
The reaction of cyanamide, NH,CN, with oxygen was run in a bomb calorimeter and AU
was found to be —742.24 k] mol ~ L. The magnitude of AH,gg for the reaction

. ; 1 : :

is __ kJ. (Rounded off to the nearest integer)

[Assume ideal gases and R=8.314 ] mol "1 K]



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819118446 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

FIETGTHTETS, NH,CN) ) ¥ yfstaton mitktes &7, 55 adiHied €9 aoeret et 3 3 fem yfsiatonr
sEr 298 K 3 €3 AU = -742.24 k] mol ! (fo®g® y3t Wm) wet @t 31 €7 &

NHyCNig + %L'};_{g} = Nagg A {'_}2{5} F HyOpy yfsfafonr ®=t 298 K 3uWs T AH & 65
____ k=

(Efimr e T R=8.314 Jmol ' K1)

(639 uds i 3= )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819118447 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1 molal aqueous solution of an electrolyte A3B3 is 60% ionised. The boiling point of the solution
atlatmis K (Rounded-off to the nearest integer)

[Given K, for (H,0)=0.52 K kg mol ]
Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819118447 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A,B, feBacwEle & Had 1 HOB3T (m) I A%l WS (aqueous solution) g ai3r Aier J 3
60 % SIREr (AB, ) T MTBIaEs (ionised) J&7 J1 latm T I feR WS T Ge® wowr __ K
Jear [EAfar e I Ky (H,0)=052K kg mol ™ '] (839 uds via 33 i 1)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819118448 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
[n basic medium {_‘r{)42 oxidises 5‘2{}32 to form 5{}42 and itself changes into Cr(OH)4" .

The volume of 0.154 M Cr('_}f required to react with 40 mL of 0.25 M 52{']32 is

_mL. (Rounded-off to the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 55 Question Id : 70819118448 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

a3 font 9 5,0,2 W8, €102 T wafEE 33 50,2 s KR T M 0,2
W CrOH), B ITE I FE T | 05 M 5,0,2 ¥ 40 mL i &% ufsfafor swt oot
0154 M Cr0 2" ¥ mL s @ &7 w3t | €39 uas viw 33 fisd)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001
Question Number : 56 Question Id : 70819118449 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1
For the reaction, @A +bB — cC+dD, the plot of log k vs T is given below :

T slope =—10000 K

logk
1 S
The temperature at which the rate constant of the reaction is 10 i e |

(Rounded-off to the nearest integer)
[Given : The rate constant of the reaction is 10> s~ ! at 500 K]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 56 Question Id : 70819118449 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
§ T g
nAH:B—:-cC|m,w%fﬁq%%waﬁbgkwTw%ﬁaﬁemﬁﬁwm

Iuns (K) €3 ufsfafonr =9 raret wig 104 s~ ySt els d=ar |

T AT 12 500 K 3wis €3 yfsfafonr 23 meret wig 1077 s~ 3t Feis J (837 yds wla 3
fi54)

T .L;Iupu =-=10000 K
Iogk

1l —>
1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819118450 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The ionization enthalpy of Na* formation from Na,, is 495.8 k] mol I while
the electron gain enthalpy of Br is —325.0 k] mol~!."Given the lattice enthalpy
of NaBr is —728.4 k] mol 1. The energy for the formation of NaBr ionic solid is
(- x107! K mol™L,

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819118450 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Nag) 3 Na* nitis 528 et &dtet nudioes G 8 495.8 K mol ™, i g Bt #s T
e fd Bruang fea fedags mi ager ¢ 3 - 325.0k] mol ~ ! o 78 ust e G w9 faawel
J | #a@ NaBr & 7% 897 7284 k] mol ~! T 3 =R fa NaBr nwilsd &R 8¢5 3 fnrg o9s &
G (-) X107 'K mol '3 I

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819118451 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Among the following, the number of halide(s) which is/are inert to hydrolysisis .
(A) BF, (B) siCl, (C) P (D) SF,

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 58 Question Id : 70819118451 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Js ey gmEst e faest Galer @ Astaas (hydrolysis) adt TORTET/TOAR T |
(A) BF, (B) SiCl, [ (D) SF,
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819118452 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Consider the following chemical reaction.

CH= CH 1) Red hot Fe tube, 873 K WO
=M Ty co, HA, Al ‘

The number of spz hybridized carbon atom(s) present in the productis .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 59 Question Id : 70819118452 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



J6 fon grfesa yfsfafonwr 3 fors €68 |

1) &% a9 Fe fo@m 873 K
2) CO, HCI, AlCI,

yfsfafonr 3° g=” Bue 18 Hige sp? Ha9s a9gs UaHanT ©f fa=st g1

CH=CH = Guw

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819118453 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Using the provided information in the following paper chromatogram :

A =]
~~Solvent front
Be A
2cm
5cm
Ae h 4
2cm
. R CTTTT—— v
/ .
7 = Base line
Spot

Fig : Paper chromatography for compounds A and B.
1

the calculated Rf valueof A = x10

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 60 Question Id : 70819118453 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A [T ]
~~suE
Be
2=‘.:-1]:|
5 7 Mt
A .
2 AiZhitea
W S
H’/ N 3
e AT ST
ASE RS x1071 Ty

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Mathematics Section A
SectionId : 708191770
Section Number : 5
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80

Mark As Answered Required? : Yes



Sub-Section Number : 1
Sub-Section Id : 7081911050

Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 70819118454 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Letf, ¢ : N — Nsuch that f(n +1)=f(n) + f(1) ¥ neN and g be any arbitrary function. Which

of the following statements is NOT true ?
Options :

2081916051 1. If fis onto, then f(n)=n ¥ neN

70819160512. fis one-one

70819160513. If ¢ is onto, then fog is one-one

20819160514, L fog is one-one, then g is one-one

Question Number : 61 Question Id : 70819118454 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

He E@f g: N—=N T—Eﬁlﬂn +1) ="|r{n.] '.ﬂl] v neN m3 g CERLE N P
Options:
70819160511, "o S Meg I, 3 f(n)=n¥ neN

70819160512, J EX EXI

20819160513, "9 8 Mog I, 3t fog fEa-fex g



70819160514, "9 fog fea-fear T, 37g fea-fea I

Question Number : 62 Question Id : 70819118455 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let the Iinesl{z —i)z=(2+ i)z and '(2 +i)z+ (i- 22— 4i=0, (herei?=~1) be normal

toacircle C.If theline iz+ T+ 1+i=0is tangent to this circle C, then its radius is :
Options :

70819160515, V2

1
70819160516, 2V2

3
70819160517, 2V

=]

|?i]| ’1’".

70819160518, ™

Question Number : 62 Question Id : 70819118455 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

5 B (2-i)z=(QQ+ )T M Q4+ i)z+ (i- 27— 4i=0,(BEL=-1)Fadw C3
WigBE To | FE@ O iz + z + 1+ i = 07EH Saw C & AW o J 3 forer wiga oA T
Options :

70819160515, V2

1
70819160516. 2V

I

I3



2
< ‘ W
3]

70819160517.

tCﬂ| 2

70819160518, ™

Question Number : 63 Question Id : 70819118456 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The integer ‘K, for which the inequality x>~ 2(3k — 1)x + 8k?~ 7 > 0 is valid for every x in R,
18

Options :

2

70819160519.

70819160520.

70819160521, %

70819160522. U

Question Number : 63 Question Id : 70819118456 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
WAHIEES 2%~ 23k — 1)x +8k*~7 > 030 J, A9 x THelE ®el, ST Uds mid k J :

Options :

70819160519, 2

70819160520,

70819160521, 4



70819160522. U

Question Number : 64 Question Id : 70819118457 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

oo
A m " 2
f0<0 b<—,x = ), cos~"0

o o
T e 2n . ’
5 ,y= ). sin""¢ and z= 3 cos?™0 . sin" ¢ then :

n=0 n=0 n=0

Options :

70819160523, WV z=(x 1 y)z

70819160524, WV 1z=(xty)z

70819160525, ‘Y tyztzx=z

70819160526, V7 =4

Question Number : 64 Question Id : 70819118457 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o0 o o
: w v g 1 e 2 - in2ng =
Hag 0<0, <7, x = > cos™", y= 2 sinTd nFz =Y cos?9.sin?"¢ FE:
= n=(0 n=(0 n=_0

Options :

70819160523, XV ~z=(x 1 y)z
70819160524, W 1z=(x 1Y)z

70819160525, *Y T¥E 2=z



70819160526, V7 =4

Question Number : 65 Question Id : 70819118458 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[f Rolle’s theorem holds for the function I_f(x)=x3 ax?+bx ~4, x[1, 2] with f IK%J =0,
then ordered pair (a, b) is equal to:

Options :

70819160527. k7

70819160528, > %)

70819160529. e

(=5 —8
70819160530.

Question Number : 65 Question Id : 70819118458 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
NN =Y -, '{' . W

o @86 flx)=x3—ax2 +bx—4, xc[1, 2] & & UG § A3HE oo d nS ffli] = ( 3t T

N | : 3)
A7 (a, b) S9ET  :
Options :
70819160527. 2

70819160528, > %)

70819160529. L



70819160530.

Question Number : 66 Question Id : 70819118459 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. s n 3
lim |14 5 is equal to :
n— n-
k. P

Options :

70819160531, 0

B3| =

70819160532.

70819160533. ©

70819160534, 1

Question Number : 66 Question Id : 70819118459 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

1\

: T,
lim | 14 S— L mg=gd:
N— n-
, J

Options :

70819160531, 0



k3| =

70819160532.

I".?'||-—'-.

70819160533.

70819160534. !

Question Number : 67 Question Id : 70819118460 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of the fntr_-gral

Jsinl].sin 20 {sinﬁl] + sinto A sinzl]j V2sin®0 + 3sin%0 + 6

do is:
1 — cos20
(where c is a constant of integration)

Options :

; 3
_L 9 — 2sin®0 — 3sin?0 — 6sin?0 ] 2 + ¢
70819160535, 18 -

: 3
_i [9 2c0s%0 — 3cos?o 6{:052!]-‘2 t c
70819160536, 1° :

1

70819160537, 18

3

['l'l 18sin20 + 9sin*0 l-airn"c’ll-‘E F oo

i 3
_i {'l'l 18cos?0 + 9cos*o 2{:05{’[]-‘2 tc
70819160538, 18 " :

Question Number : 67 Question Id : 70819118460 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
fenfearas

: ; . 6 .4 i . 4 s
20 (s . sin”0) v2s 3 & 3
jsml].su‘n ) (sin” 0 + sin”0 + sin”0) \}} sin 04+ 3sin”0 + 6 do = 1m

1 - cos20

(fEE ¢ feafeaums T »ios 9)

Options :
. , s
— [9 2sin®0 — 3sin*0 — 6sin?0 }7— FoC

70819160535, 18

3

L [9 Ecnsﬁl] 34:05'1!] f)CDSEI]]E - C
70819160536, 18 '

3
— [11 18sin”0 + 9sin*0 l';inﬁl]F F ¢
70819160537.

3

_i {11 18cos20 + 9coso 24:(:*'3‘;’[]-‘E Foc
70819160538, 18 * '

Question Number : 68 Question Id : 70819118461 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1
5
The value of szell de , where [t] denotes the greatest integer = t, is:

=1

Options:

70819160539, 3

1
70819160540. ¢

70819160541.



3e

e+ 1
70819160542, e

Question Number : 68 Question Id : 70819118461 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
a1
J’felx”dx,feﬁm iy Auds i < t SRR T TS T
-1
Options :

e+ 1
70819160539. 3

-
70819160540, ¢

2T |

70819160541, ¢

e+ 1
70819160542, e

Question Number : 69 Question Id : 70819118462 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If a curve passes through the origin and the slope of the tangent to it at any point (x, y) is

¥ -4xty 8, then this curve also passes through the point :

x—2

Options:



70819160543. @, 9)

70819160544. 2:3)

70819160545, > %)

70819160546, (4 4)

Question Number : 69 Question Id : 70819118462 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o
o i s e R due T fen g M v & e fa ey 3 1 2Ty T8

x—2

3, Je =3 fom e 29 & S -
Options :

70819160543, (% °)

70819160544. 2:9)

70819160545, > %)

70819160546, (4 4)

Question Number : 70 Question Id : 70819118463 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The image of the point (3, 5) in the line x —y +1=0, lies on :
Options :

70819160547, (X 47 H(y +2)2=16



r —2)2 M
70819160548, (¥ 2"+ (y—4)7=4

e AVZ AND _
70819160549, (X 4=ty —4)==8

2)2+ (y—2)2=1

o]

70819160550, (*

Question Number : 70 Question Id : 70819118463 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
flg 35 Tmy-y+1=0fRT ushia s i & Gua I 9 Azme a@ar |

Options :
70819160547, (X 4?1+ (y +2)?=16

. 2 ant __,
70819160548, (¥ ~2)"H(y—4)7=4

—4)2 A2
70819160549, (X ~4)°+(y—4)7=8

)2 o
70819160550, (¥ 2=+ (y—2)==12

Question Number : 71 Question Id : 70819118464 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A tangent is drawn to the parahola yzzﬁx which is porpendicular to the line 2x 4 y=1.
Which of the foIIowing points does NOT lieon it ?

Options :

o
70819160551. ©.3)



70819160552, (& 0)

70819160553, (> 4)

(4.5)
70819160554.

Question Number : 71 Question Id : 70819118464 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Toas 2= 6x § o e T it ot YA T 2ot y=174 B8 3136 o R R e

fer & Agne &t a9ar 7

Options :

3
70819160551. ©. 3)

70819160552. 6N

70819160553, (& 4)

(4,3)
70819160554.

Question Number : 72 Question Id : 70819118465 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. 2 2 2

- A

If the curves, & | L;— = 1 and T | ’I’I = 1 intersect each other at an angle of 90°, then
a )

which of the following relations is TRUE ?

Options :

70819160555, @ tb=ctd



70819160556, @ ~b=c—d

c+d
b

ab =
70819160557. i

70819160558, @ ¢=b+d

Question Number : 72 Question Id : 70819118465 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i 2 2 2
ﬂa‘u’eﬁ,“—|{-:Mﬁ'?lJ?=1fea§q§l)[r‘eaﬁaaz?ma€aa%&wh€
d 1]
foaar A Adt T ¢
Options :

70819160555, @ tb=ctd

70819160556, @ ~b=c—d

70819160557. &

70819160558, @ ¢=b+d

Question Number : 73 Question Id : 70819118466 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let « be the angle between the lines whose direction cosines satisfy the equations
l4+m-n=0and I2+m2-n2=0. Then the value of sin*a + costa is :

Options :

5
70819160559, B



70819160560.

M| =

70819160561.

| s

70819160562.

Question Number : 73 Question Id : 70819118466 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
He &8 e fasl T e arels AHiaEst [+m—n=0 3 > +m?-n?=0. ¥ A3 oo 08,
fegagad® I 1 3¢ sinfatcosta T ?—I?EEF I

Options :

®|w

70819160559.

oo | W

70819160560.

r| =

70819160561.

| s

70819160562.

Question Number : 74 Question Id : 70819118467 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The equation of the line through the point (0, 1, 2) and perpendicular to the line

- oot WU G 5 L O

2 3 2
Options :

x_y 1_2 2
70819160563, 3 4 3

® g1 g=2
70819160564, 4 3

x._ ¥-1 1-2
70819160565, 2 4 3

% oA g2
70819160566, = 4 3

Question Number : 74 Question Id : 70819118467 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
= = o 0 = = = 3 |1 A 0N & ==
wqfagilj,l,zjﬁaamﬁanﬁw"ZI:y - 2= 1 2309, @ mitows Rt

3 2

Options :

£ =1 =z—2
70819160563. 4 3

E o o
70819160564, 4 3

x_y | T 2
70819160565, 2 4 3

x ¥ | T 2

3 4 3

70819160566. -



Question Number : 75 Question Id : 70819118468 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

When a missile is fired from a ship, the probability that itis intercepted is - and the probability

3 .
mMHWHEHEMBmem@mﬁWmﬂmHHmmHMmuwmim1.H&mmmﬁﬂmamﬂmd
independently from the ship, then the probability that all three hit the target, is :
Options :

i
70819160567, 27

oo |

70819160568.

| w

708191605609.

.4-_,.|-,,.;'

70819160570.

Question Number : 75 Question Id : 70819118468 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
mﬁammzﬁmﬂﬁaﬁmmﬁw%m fifes € e & foe aus &
g e fa fesr 9 ﬁe‘nﬁ%ﬂéwaﬂ%w% J1 7a@ 35 fimrest Ajes 7o 3 pS30use
g e | ST fege B3 firfes < edie @ fie a9s & Agear I

Options:

i
70819160567, 27



oo | =

70819160568.

oW

70819160569.

.4-_,.|-_,.;'

70819160570.

Question Number : 76 Question Id : 70819118469 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The coefficients a, b and ¢ of the quadratic equation, ax2+bx + ¢ =0 are obtained by throwing
a dice three times. The probability that this equation has equal roots is :

Options :

70819160571, 26

70819160572. 94

70819160573, 72

70819160574, 216

Question Number : 76 Question Id : 70819118469 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ewst Aiags ax?+br+c=0% q&F a, bn3 ¢ fed uH 3 56 @9 He o Tk o1 fer miees

T 4% 5959 g € R J




Options :

70819160571, 2

70819160572. 54

70819160573, 72

70819160574, 216

Question Number : 77 Question Id : 70819118470 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

All possible values of 6 [0, 27| for which sin 20 + tan 26 > 0 lie in :

Options :

|l([] E\.| ” |.fFr F"r_’.'l'\'|
70819160575, ~ 2/ . 2

.f[] :\ o l.-"I :1'_“,\ & fﬁ ll_".'l"

S| ol R -
70819160576. 4 / J

i F oW | 7
70819160577. i b J /

i ar '(TI' :‘:-rTr*. / y f"'r'r ?Tr"

|[L—|LJ ;,—|u1~.r,—|u1 P
70819160578, © /22 42/ ) 1)

Question Number : 77 Question Id : 70819118470 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
0T AW AT HB,0 € [0, 2] A8l &Lt sin 20 + tan 20 > 0, 39 J=ar

Options :
0 E\] 5 |fFr ﬁ’r_’.r\'|

70819160575, * 2/ 2 )

.ll.-' [] E-\, v l-"'E "}'I_Tr\l T 1-"'h ll_Tr"u|
70819160576, 4/ \27 4 5

-|I,[L ;11. |.f; E' |'r 7o |
70819160577. ~ =/ & @ 1)

(0 ) (0 fus ) |f_r Lol Y |”3_Tr 7))
70819160578 44 NER L R RS TRET 4

Question Number : 78 Question Id : 70819118471 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The total number of positive integral solutions (x, y, z) such that xyz=24 is :
Options:

70819160579, 24

70819160580, U
6

70819160581, °

70819160582, +°



Question Number : 78 Question Id : 70819118471 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g% T&SHA Ydamd 98 (x, v, z) eld xyz =24 7 |

Options :

70819160579, 24

70819160580, 30

70819160581, 2©

70819160582, *°

Question Number : 79 Question Id : 70819118472 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A man is observing, from the top of a tower, a boat speeding towards the tower from a
certain point A, with uniform speed. At that point, angle of depression of the boat with the
man’s eye is 30" (Ignore man's height). After sailing for 20 seconds, towards the base of the
tower (which is at the level of water), the boat has reached a point B, where the angle of
depression is 45°. Then the time taken (in seconds) by the boat from B to reach the base of the
tower 1s :

Options:

70819160583, 10

—
70819160584, 10¥3 + 1)

70819160585. 103

70819160586, 10V3 ~ 1)



Question Number : 79 Question Id : 70819118472 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fea nret, zeg €t 2T 3 fea fomst oy foor U, A o Afeg o8 % fan fifg A, 3 zeg &8 i ot
J1 B fie 3 fomst & nrert & niy-3% faeiz a= 30° (ot & Garet ot o) |
Zeg e mg (7 fa uet & Afzd 3 ) @8 20 Rids 39/986 3 amie fanst B fie 3 ude el g,
fre foez o= 45° 3| fomst =8 B fig 3 2=9 © wioT 39 uges & AW (Afas =)

Options :

70819160583, 10

snp -x
70819160584, 10(v3 + 1)

70819160585, 103

70819160586, 101¥3 ~ 1)

Question Number : 80 Question Id : 70819118473 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The statement A — (B — A) is equivalent to :
Options :

70819160587, * 7 (A — B)

70819160588, 2+ — (A v B)

70819160589, * — (A~ B)

70819160590, * 7 (A< B)



Question Number : 80 Question Id : 70819118473 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
q865 A — (B — A) AHG T :
Options :

70819160587, * — (A — B)

70819160588, 2+ — (A v B)

70819160589, 4+ —7 (A A B)

70819160590, ©* 7 (A < B)
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Question Number : 81 Question Id : 70819118474 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

708191771
6

Online
Mandatory
10

5

20

Yes

1
7081911051

Yes



ol 2] - a -b
If A= and (I, +A) (,—A)~'= b

w, then 13(a2+b?) is equal to
5 (0

d

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 81 Question Id : 70819118474 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

f”
0 tan

0
tan[— |
ke

) Y
EJ a -b

7ag A = "3 (I,+A) (- A)~ 1= , 38 13@+b)

b a
0 - :

¥ 5090 J|
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819118475 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



=
(]

R
(]
it

Let A= (|, where x, y and z are real numbers such that x+y+z > 0 and xyz=2.

ry
If AE:IE, then the value of 4 l'ﬂ r2is

[a]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819118475 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

X W .z
Ho®8 A=|y z x|, fEx y»Szorsea At R ST 6 fa xty+z>0, nz=2
z X ¥
Hag AZ=L, S+ 2@ g8 3

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819118476 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



If the system of equations
kx+y+2z=
Ix—y—2z=2

2x — 2y —4z =2

has infinitely many solutions, then k is equal to _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819118476 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

2x—2y—4z=3
as A U Reaetds g, 38k T =5@Ed JI
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819118477 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The total number of numbers, lying between 100 and 1000 that can be formed with the digits
1,2,3,4,5,1if the repetition of digits is not allowed and numbers are divisible by either 3 or 5,
15



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819118477 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

g W@ 100m3 1000 fegag 1,2, 3,4, 50 T coge sesa see ae e n3 oo wi@ 3 775 63
Sweo bwodwd et 3

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 85 Question Id : 70819118478 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let Al, Az, A3, ..... be squares such that for each n=1, the length of the side of A" equals the
length of diagonal of A, ;. If the length of A, is 12 cm, then the smallest value of n for

which area of A is less than one,is .
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 85 Question Id : 70819118478 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
Ho B8 A, Ay A, ..., n21 T3 Aol <9a 061 A Tt g & Saret A T feowe < o
T BOHG J| He@ A, T I € Barel 12 Heieg U, Se GRS S e nT B MR TS A, T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819118479 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of points, at which the function f(x)=|2x+1)~3x + 2|4 *+x-2,xeRis
not differentiable, is .

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819118479 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
friat fiendt 3 @86 f(x)=|2r+1|-3x+2) + x2+x -2, x ¢ R fscdfimms &f 3, G & fo=at
31



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819118480 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let f(x) be a polynomial of degree 6 in x, in which the coefficient of x° is unity and it has

; (x)
extrema at xy=-1and x=1. If |lim —-
=0 y

=1,then5-f(2)isequalto .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819118480 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
HG B8 f(x), x 129 6 fsat 2 sguwet 3, fam fe9 20 o g@ia fearel I w8 AHS x=-1,2=163

=, . '\I [* =, =
EIﬁIFIE‘HLimf{—i:IE?ir{{E]__“_ Y 399d J|
=0 x Z

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819118481 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The graphs of sine and cosine functions, intersect each other at a number of points and
between two consecutive points of intersection, the two graphs enclose the same area A.
Then A'isequalto

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819118481 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

AEs 13 dATElS eBaT © miH, i B & aET e 3 deT 98 niE T 5 B dice fdenT feeag
ey Ed o s AWE o8 1 32 AY . T EgEe I

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 89 Question Id : 70819118482 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



The locus of the point of intersection of the lines (/3 ) kx A ky 443 =0 and

ﬁx y 4( \ﬁ] k =0 is a conic, whose eccentricity is ____ .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 89 Question Id : 70819118482 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
et (V3)ke +ky - 43 =093 B x -y - 4(J3) k=0 T e fowr & Ao R afem 4,

ASr WAMEEdST . d
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 90 Question Id : 70819118483 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

—

SR A A S A A — A A

let a=i+2j-k b=i-jand ¢ =i - j— k be three given vectors. If r isa
- — — — -3 = o

vector such thatr x a = ¢ x aandr- b =0, then r- a isequalto .

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 90 Question Id : 70819118483 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

= e ey A A = A A it | A A A = e x — i
Ho®8a=i+2j-kb=i-jmc=i-j-kHsf3 @ mw | #ow r R
s el .—} — — - ﬂl—} — o . i
g Az U@ rx a=cxam r-b=0,r-a  TEguwgdJl

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



